— SRR - TNRT 1

— RN - INT 2

F #H EF-KA

@D 3+x=8 @ x-7=3
r=8-3 x=3+7
x=5 x=10

® 10+2x=20 @ 8x—7=17
2x=20-10 8x=17+7
2x=10 8x=24
x=5 x=3

® 5x-7=x-19
bx—x=-19+7
dx=-12
r=-3

® 6x-4=3x+11
6x—3x=11+4
3x=15
x=5

F #H E-K4

D x-7=3 @ 4+x=14
r=3+7 x=14-4
x=10 x=10

@ 6x+1=19 @ 10-4x=18
6x=19-1 —4x=18-10
6x=18 4x=8
x=3 r=-2

@ 2x+11=5x+26

7x+10=3x—6

® 8x-7=x+21

® 9x-14=4x+11

2x-5x=26-11 7x-3x=—-6-10
3x=15 4x=-16

r=-5 x=—4

x—1 x+3 3 x+8

© 55 =% ® ge+l="5

x=1 15_x+3 1 12i 1 _x+8

7 X _5><5 (4x+)—3><12
S5x-1)=3@x+3) 9x+12 =4(x+8)
Sx—-5=3x+9 9x+12=4x+32
Sx—-3x=9+5 9r—4x=32-12
2x=14 5x=20

x=7 x=4

< # H B>

S8x—x=21+7 9x—4x=11+14
7x=28 bx=25
x=4 x=5
@D 2x+7=5x+16 7x+4=3x-8
2x—-b5x=16-7 7x-3x=-8-4
-3x=9 dr=-12
X == x=-3
x+1 x+2 3 x—1
© =" 5¥2="4
2l 12242 w12 20(32-2)= L x20
dx+1)=3x+2) 12x-40=5(x—-1)
dx+4=3x+6 12x—40=5x-5
dr-3x=6-4 12x—5x=-5+40
x=2 7x=35
x=5
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— 5T - IRT 3

— RGN - INT 4

F #H

@D x+2=9 ®@ x-7=8
x=9-2 x=8+7
x=7 x=15

@ 3x+11=20 @ 50x-4=16
3x=20-11 5x=16+4
3x=9 5x=20
x=3 x=4

® 5x+8=3x+14

® 7xr-9=3x+15

bx—-3x=14-8 7x-3x=15+9
2x=6 dx=24
x=3 x=6
@ 3x+9=>5x+13 9x+2=4x-8
3x-5x=13-9 9x—4x=-8-2
2x=4 5x=-10
r=-2 r=-2
r—-3 x+6 2 x—5
© 5" ="% 3T3="3
223 x10=%8 %10 622-3)=252 x6
5x—-3)=2(x+6) 4x—-18=3(x-5)
Sx—15=2x+12 4x—-18=3x-15
bx—2x=12+15 dr-3x=-15+18
3x=27 x=3
x=9

< £ A B>

F #H E-KA

D x-7=6 ®@ 3+x=11
x=6+7 x=11-3
x=13 xr=8

® 7x+3=31 @ 4x-9=3
7x=31-3 dx=3+9
7x=28 dx=12
x=4 x=3

® 4x-7=x+11 ® 8r—7=4x+13
de—-x=11+7 S8x—4x=13+7
3x=18 4x=20
r=6 r=5

@ 2x+4=8x+10 dx+3=5x-2
2x—-8x=10-4 dx-5x=-2-3
—6x=6 —x=-5
x=- x=5
x+5 x+2 2 _x+7

© 5 =3 58t2="3
L9 c12= 22 x12 15(22+2)= £ <15
3x+5)=4(x+2) 6x+30=5(x+7)
3x+15=4x+8 6x+30=5x+35
3x—4x=8-15 6x—5x=35-30
—x=-7 r=5
x=7

< 3 B>



— R - INT 5

—R3FEDN - INT 6

F #H EF-KA
D x+4=13 ® 8-x=10
x=13-4 —-x=10-8
=9 —x=2
r=—
® 2x+13=35 @ 7x-5=16
2x=35-13 7x=16+5
2x=22 7x=21
x=11 xr=3

g i E-KA

D x+8=14 @ 9+x=14
x=14-8 x=14-9+5
x=6 x=5

@ 3x+4=25 @ 3x-10=8
Sx=25-4 3x=8+10
3x=21 3x=18
x=7 r=6

® 5x+7=2x+19

® 8xr-8=3x+17

® 6x-7=2x+17
bx—2x=17+7
4x=24
x=6

® 7r-3=5x+15
7x-5x=15+3
2x=18
x=9

@ 4dx+4=7x+10

5x+7=2x-5

bx—2x=19-7 8x-3x=17+8
3x=12 bx=25
r=4 r=5
@D x+11=6x+26 7x+8=2x—-7
r—6x=26-11 7x—-2x=-7-8
-Sx=15 Sx=-15
= r=-3
x—5 x—4 2 x—7
© 5 =3 3T+7="4
225 x6=2% %6 1232+ 7= 2 <12
3(x-5)=2(x-4) 8x+84=3x-7)
3x-15=2x-8 8x+84=3x-21
3x-2x=-8+15 8x-3x=-21-84
x=7 -5x=-105
x=-21
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dx—-7x=10-4 bx—2x=-5-7

3x=6 3x=-12

x=- x=—4

x+4 x+2 1 x—1
©%5 =7 O gx-1="3"

4 2 1 -1
25 <15 =125 x15 6(5x—1)=%5" %6
3x+4)=5(x+2) x-6=2(x-1)
3x+12=5x+10 x—6=2x+2
3x-5x=10-12 r-2x=-2+6
2x=-2 —x=4
x=1 x=-—4
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